@ Graph the equation below:

}-} = ——%'xz—.‘?x
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Then determine the characteristics listed below and draw the axis of symmetry.
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Equation of the axis of symmetry; X = — Z




@ Graph the equation below:

y=x2~4x+5

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertéx: ! i 5 \)

Coordinates of the y-intercept: (O \5\’

Cowdinates of the point symmetric with the y-intercept: (LE 5\

Coordinates of the zeros: nNoNe
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Equation of the axis of symmetry:




@ Graph the equation below:
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Coordinates of the vertex: / = )3)
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Coordinates of the y—intercept:{o} 'E) YR @\' 3.‘?_5\

Coordinates of the point symmetric with the y-intercept: Z— Ly EIS/)

Coordinates of the zeros: Aoya

Equation of the axis of symmetry: X = —\




@ Graph the equation below:

y=x24+ 5 -Bx
4= mlor+2

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertex: (3 5 ‘\{3

Coordinates of the y-intercept: L/D " 55 ,

Coordinates of the point symmetric with the y-intercept: [("3 SB

Coordinates of the zeros: (\ 503 5 C 5'} 03

Equation of the axis of symmetry:__ ¥ =




@ Graph the equation below:

y=x*—4x+3

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertex: (?"- =

Coordinates of the y-intercept: (0‘,3\/

Coordinates of the point symmetric with the y-intercept: ( o 33

Coordinates of the zeros: (\\\,0\ oand (?) '03

Equation of the axis of symmetry: e 2o




@ Graph the equation below:

y=2x—4x +1

Then determine the characteristics listed below and draw the axis of symmetry.

N 2
T N Lt Bl o T
NEERY AGYTT
X y
: |
y I | \ ]
# 5P 1 = o)
: LV T |
= 1 !
| e a N VAN !
cl) to V) "
Q P A¥a 1)) Ve
[ L)."’ = Ll T
'\(_‘ V)
Coordinates of the vertex: ( 13-\5
Coordinates of the y-intercept: ( 04 \3

Coordinates of the point symmetric with the y-intercept: ( 2.,_ \3

Coordinates of the zeros:

(0.3\,0\, ard (17,0

Equation of the axis of symmetry: Xz=\




Graph the equation below: ' .
O e
y = —8x2— 10 + 122 ¥ o
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Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertex: (2“, L)

Coordinates of the y-intercept: L/C) = lD\/

Coordinates of the point symmetric with the y-intercept: (L{ e, \0\
i N

Coordinates of the zeros: (\.?_,D\ o ng O\
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Equation of the axis of symmetry: X = L




Graph the equation below:
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Then determine the characteristics listed below and draw the axis of symmetry.
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| Coordinates of the vertex: ( O; D>
Coordinates of the y-intercept: (0 ) 0)

Coordinates of the point symmetric with the y-intercept: (a ;33

Coordinates of the zeros: /0 .,0\

Equation of the axis of symmetry: X=0©




@ Graph the equation below:

y=4—x3
éj = —%4%

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertex: (03"{>
Coordinates of the y-intercept: (o \"l,\,

Coordinlates of the point symmetric with the y-intercept: /C) \\-0

Coordinates of the zeros: (Lp) \ (—- p o>

Equation of the axis of symmetry: X=0




@ Graph the equation below:

y=x2-4—x

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinrates of the point symmetric with the y-intercept: /q\D)

Coordinates of the zeros:
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Equation of the axis of symmetry:
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@ Graph the equation below:
s
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Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertex: /0\, (D
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Coordinates of the y-intercept:

Coordin_ates of the point symmetric with the y-intercept: (0‘,6\

Coordinates of the zeros: /0 \ 0\/

Equation of the axis of symmetry: X =0




@ Graph the equation below:

y=-3+2+1

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertex: 3,2) v s \ 3
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Coordinates of the y-intercept: (0 <1
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Coordin_ates of the point symmetric with the y-intercept: / = (\
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Coordinates of the zeros: ( 3;"’5 oo~ & (“\03
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Equation of the axis of symmetry: K= 3




